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........... all the studentswho try hard

39- Asateacher, |
enough to succeed.

1) expect 2) respect
3) conduct 4) suggest
40- If our contry had used all itsnatural ............ ,we'd
have had a better life.
1) sources 2) forces
3) resources 4) developments
41- That company’s productsare............. to everyone.
1) famous 2) popular
3) respectful 4) known
42- A new solution to the problem will ....... in your
mind if you think better.
1) come 2) develop
3) find 4) discover
43- | domy best to ...... good questions for my students.
1) gived 2) equip
3) ask 4) provide

44- |n order to have a better society, everyone should
...... limitsto hig/her freedom.

1) set 2) confine

3) use 4) show
45- When human beings live together, they can .....
many things.

1) keep 2) steal 3) respect 4) gain

46- Asyou know, everybody’s freedom ..... on the
other’sfreedom.

1) protects 2) depends

3) relates 4) provides
47- He helps me with my homework ...... that | will do
the samefor him.

1) kows 2) to know
3) knowing 4) knew
48- Ali asked mewhen | ..... the man the night before.
1) saw 2) have seen
3) was seen 4) had seen

49- Ali didn’t answer thephone, | think he..... out of the house.
1) could have gone 2) might have gone
3) should have gone 4) must have gone
50- What does your watch look like? ......
1) | like my watch
2) It's got abalck strap
3) | look at my watch very much
4) It's very expensive
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